
02-11-2019

61 ofPrudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

P59  |  Cove & PerimeterLED

I N S T A L L A T I O N  I N S T R U C T I O N S 

T-Bar 
(When specified)

105/8 ˝

9/16˝

87/8˝

47/16˝

91/8˝ 
Above
Finish

Ceiling 
Line

1313/32˝

57/8˝  
Ceiling Opening

15˝ Wall to T-Bar Center
T-Bar 

(When specified)

For A6 mounting option 
remove 1/4˝ K.O on mounting 

bracket surface and bolt 
housing to mounting 

bracket using forward bolt 
holes patterns

A6: CROSS SECTION

Forward 
bolt holes

Remove  
1/4˝ K.O.

105/8 ˝

9/16˝

87/8˝

47/16˝

91/8˝ 
Above
Finish

Ceiling 
Line

1313/32˝

87/8˝  
Ceiling Opening

15˝ Wall to T-Bar Center

For A9 mounting option bolt 
housing to mounting bracket 
using rear bolt hole pattern.

Rear bolt 
holes

A9: CROSS SECTION

Support wire 
(by others)

Support wire 
(by others)

WALL TO WALL:

BEGINNING OF ROW BEGINNING OF ROW

Filler End  
#72404

Filler Box  
#72405

Filler Box  
#72405

Mounting  
Bracket

L.H. Finish 
 Plate

R.H. Finish  
Plate

Filler Top  
Panel  

#87337

Cut Size  
(See Note 1)

END OF ROW END OF ROW

LIGHT POCKET:

Cut Size  
(See Note 1)

W A L L  C O N D I T I O N



02-11-2019

62 ofPrudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

P59  |  Cove & PerimeterLED

I N S T A L L A T I O N  I N S T R U C T I O N S 

1.	 Facing wall from left to right mount bottom of wall support rail 91/8˝above finished ceiling line.
2.	 Fasten rails to wall surface with 11/4˝ bolts or lag screw (provided by others).  

Depending upon construction, reinforcement may be required behind support rails.

S U P P O R T  R A I L  I N S T A L L A T I O N

NOTE : �Support rails are supplied in 97˝ lengths. Fill random row lengths 
with 97˝ support rails and field trim last rail to remaining fill length.

Modular 
Housing 2’- 8’

Extruded 
Facia 97˝ 

Long

Aligner 
Spline

End of Row 
Filler Kit

Inside 
 Corner Box

Outside 
 Corner Box

Finish End 
Plate R.H.

Mounting 
Bracket 2’-8’

Wall Support 
Rail 97˝ Long

Finish End 
Plate L.H.

Ceiling Finish 
Line

Wall Support 
Rail

91/8˝

15˝ Wall 
to T-Bar 
Center

1.  Hook corner box onto wall support rail.
2.  Secure corner box to structure with support wire.
3.  �Field trim filler box parts (when needed) to required 

length (minimum 3˝).
4.  Mount filler box (when needed) to wall support rail.
5.  �Screw left side of filler (when needed) to mounting bracket  

of fixture with (2) 8-32 x 1/2˝screws and nuts.

F I X T U R E  I N S T A L L A T I O N
NOTE : �See order diagram. Mount fixture in order shown, starting from left as you face the wall.

6.  �Screw right side of filler box (when needed) to corner box  
with (2) 8-32 x 1/2˝ screws and nuts.

7.  Secure filler box (when needed) to structure with support wire.
8.  �Begin installing facia from first corner in row. Measure distance 

from last facia in row to next corner facia and cut 8’ facia  
extrusion to fill in remaining gap using #6-32 x 1/2˝ tek screws.

9.  �Slide aligner spline to align facia with adjacent facia.  
Secure with #8 x 1/4˝ sheet metal screws.

INSIDE CORNER OUTSIDE CORNER

Last facia

Cut to  
measured fill  

dimension 
minimum 3˝

Cut to
 measured fill  

dimension minimum 3˝



02-11-2019

63 ofPrudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

P59  |  Cove & PerimeterLED

I N S T A L L A T I O N  I N S T R U C T I O N S 

P A T T E R N  I N S T A L L A T I O N

M O U N T I N G  H A R D W A R E

INSIDE CORNER OUTSIDE CORNER

ALIGNER SPLINE: 

-- �(1 per fixture) with (2) #8 x 
1/4˝ Phillips required on facia 
extrusion seams (supplied). 

Wall Surface

Inside corner 
box

Outside 
corner box

Fixture Fixture Fixture Filler

Wall Surface

A6: 145/16˝  
A9: 175/16˝ 
To corner end

A6: 145/16˝  
A9: 175/16˝ 
To corner end

Wall Surface

A6: 127/16˝  
A9: 153/8˝ 
To corner end

A6 & A9: 
131/32˝  

To corner end

A6: 127/16˝  
A9: 153/8˝ 
To corner end

FILLER BOX: 

-- #8-32 x 1/2˝ truss head screws 
and hex nuts.

-- #8-32 x 3/8˝ sheet metal hex 
slotted screws (supplied).

1.	 �Hook mounting bracket onto wall support rail.
2.	 �Level mounting bracket with leveler screw.
3.	 �Secure mounting bracket to structure with support wire  

(provided by others).
4.	 �Use 1/4-20 x 3/8˝ screws and nuts to mount fixture assembly onto 

mounting bracket in A6 or A9 position as shown on page 1.
5.	 �Join mounting bracket to adjacent bracket with (2)  

#8-32 x 1/2˝ screws and nuts.
6.	 �Repeat steps 1-5 to mount all adjoining fixtures in a row.
7.	 �Secure fixture ends together with (3) #8-32 x 1/2˝ screws  

and hex nuts (when needed).
8.	 �Hook facia extrusion onto fixture as shown and secure  

with #6-32 x 3/8˝ tek screws.
9.	 ��Slide aligner spline inside right end of facia extrusions,  

repeat steps 9 and 10 throughout row. Trim last facia  
extrusion to required filler length.

10.	 ��Slide aligner splines into adjacent facia extrusions and  
secure in place with #8 x 1/4˝ sheet metal screws

R O W  I N S T A L L A T I O N

NOTE: �Rows that require a beginning or end of row filler.  
(See filler kit installation above).

Wall Surface

Fixture Fixture Fixture Filler

Support  
Rail

Mounting Bracket

Filler Box

Fixture

Aligner  
spline

Facia

1/4-20 x 3/8˝  
Screws & Nuts

Attach end  
plate to first 

fixture in row

First / last fixture in row

Wall  
support

Facia

Mounting bracket

FIGURE 1

FIGURE 2

FIGURE 3

OVERHEAD MOUNTING: 

-- 1/4-20 x 11/2˝ hex head screws 
and nuts.

SUPPORT WIRE: 

-- Required on mounting bracket 
and on filler boxes (by 
others).



02-11-2019

64 ofPrudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

P59  |  Cove & PerimeterLED

I N S T A L L A T I O N  I N S T R U C T I O N S 

L E D  F I L L E R  K I T  I N S T A L L A T I O N
PRIOR TO INSTALLATION

1.	 Prepare filler for ceiling installation after modular units are 
installed.

2.	 �Remove  part 87333 from part 87331 and 89663. LED driver may 
require temporary disconnection from LED boards.

3.	 �Remove part 87331 and 89663 from part 87415. Measure distance 
between end of last fixture in row and end of ceiling opening, 
light pocket wall, wall-to-wall or corner connector, (pattern).

DETAIL 2 DETAIL 3

24˝ LED Filler Shipped  
Fully Assembled with... 

P/N: 87508 (A6) end 
P/N: 72404 (A9) end

Filler End
P/N: 87508 (A6) 
P/N: 72404 (A9)

P59 2’ LED Filler Assembly  
P/N: 87334 (A6) 
P/N: 87330 (A9)

DETAIL 1
LED Front Mounting Bracket 

P/N: 89663

LED Filler Side Panel 
P/N: 87415

2’ LED Filler  
Mounting Bracket
P/N: 87508 (A6) 
P/N: 87416 (A9) 

Quarter Turn Fastener
P/N: 100-00161-14 

12˝ LED Mounting  
Panel Assembly

P/N: 87333

12˝ LED Mounting  
Panel Assembly

P/N: 87333

LED Driver Mounting Bracket 
P/N: 87331

LED Driver Mounting Bracket 
P/N: 87331

Field Cut End

FIGURE 1 FIGURE 2

Fill Dimension  
12˝ Min.

Wall surface, 
Inside or Outside 

Corner Box

Last  
Fixture  
in Row

Filler End
P/N: 87508 (A6) 
P/N: 72404 (A9)

NOTE: �If desired two piece filler housing can be separated for ease and accuracy fo cuts.

7.	 Replace P/N 97331 LED panel mounting bracket flush with field cut end. attach P/N 87333 with quarter turns.

8.	 Replace part 89663 flush with opposite end. Attach P/N 87331 with quarter.

9.	 LED panels will overlap to reduce the 24˝ filler to 12˝ minimum filler length.

4.	 Cut P/N 87415 and 87508 to pre measured fill dimension.  
(See Figure 1).

5.	 When cutting filler mounting bracket, P/N: 87508 (A6) or P/N: 
87416 (A9), cuts must be square, straight and clean to match 
adjoining mounting bracket and exposed bottom mounting 
bracket surface. 

6.	 Attach P/N: 87508 (A6) or P/N: 72404 (A9) filler end. (See Figure 2).

Bottom Exposed  
Surface

Cut to
 measured fill  

dimension minimum 12˝



02-11-2019

65 ofPrudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

P59  |  Cove & PerimeterLED

I N S T A L L A T I O N  I N S T R U C T I O N S 

S T U D  A N D  F U R R I N G  C H A N N E L

A6 A9

R.H. FINISH PLATE P/N 90627 P/N 90631

L.H. FINISH PLATE P/N 90626 P/N 90630

FACIA 97˝ P/N 100-00176-02

FACIA CUSTOM LENGTH PN/ 10540

NOTES: 
1.	 ���Furring channel and metal stud 

dimensions shown are for  
reference only

2.	 �Secure trim to ceiling with drywall  
screws (by others) and tape and  
plaster (See figure 1)

For EM. CIR. 
Clearance required 

for flex conduit  
elbow connector  

(by others).

Metal Stud

Ceiling

Wall angle / channel 
(by others)

Furring channel  
(by others)

1/4˝ from edge of  
trim to hole center

Secure time to ceiling 
(See note 2) 

23/4˝  
(Ref)

29/16˝ 
1˝ 

(Ref)

11/8˝ 
(Ref)

65/8˝ Clearance 
minimum

FIGURE 1

1.  �Field trim filler box parts to required  
length (min. 3˝ fluorescent only).

2.  �Assemble all parts with #8 x 1/4˝ sheet  
metal & #6 tek screw (provided).

3.  Mount filler box to support rail.

NOTES: 
-- ��For beginning of row refer to row layout 

drawing provided by factory for dimension.

-- ��For 2’ LED filler installation. (See page 5).

-- ��For pattern condition see corner  
box installation

F L U O R E S C E N T  F I L L E R  K I T  I N S T A L L A T I O N

4.  Secure filler box to structure with support wire.
5.  �Secure filler box against wall with screws.  

(If necessary).
6.  �Mount adjoining fixture to filler with  

(2) #8-32 x 1/2˝ screw & nuts (provided).

FOR X7  
INSTALLATIONS  

ONLY



02-11-2019

66 ofPrudential Ltg. reserves the right to change design specifi cations or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

P59  |  Cove & PerimeterLED

I N S T A L L A T I O N  I N S T R U C T I O N S 

A D C  I N S T A L L A T I O N

Insert clear lens into housing top 
groove and lift. Shift lens over into 

bottom attached lens rail.

Upper lens 
rail will be 

welded to top 
of housing

Specular refl ector

Upper lens 
rail

.080 Thick
clear lens

PULL DOWN .080 Thick
clear lens

Tek screw

Removable lower lens rail

NOTE: For 2’ fi ller kit, upper lens rail must be trimmed and installed at time of installation with tek screws.


